[lemoBepcus KOHTPOSIbHO-U3MEPUTESIbHBLIX MaTeprasioB No aHIMNCKOMY A3bIKy 10 Knacc
ANS NpoBeAeHnsa NPOMEXyTOUHOW atTecTaunn B 2019-2020 yyebHoM rogy

Bbl 1Ba pasa YCHBIIIMTE YETHIPE KOPOTKUX JUajora,
o0o3HaueHHbIX OykBamu A, B, C, D. VYcranosute
COOTBETCTBHE MEXKIy [IHAJIOraMd M MECTaMHu, T[I¢ OHHU
POUCXOIAT: K KaKIOMYy  JAMaiory  Iojpbepure [pocnywaTtb
COOTBETCTBYIOIIIEE MECTO IEHCTBHS, 0003HAUEHHOE [T PaMHU. ayguosanncb
Mcnonp3yiiTe Kakaoe MECTO NOEWCTBHUS M3 chucka 1-5
TOJbKO OAWH pa3. B 3amaHum ecTh OMHO JIHIIIHEE MECTO
melCTBHS.

J3

J

* In a classroom

* In a shopping centre
* In a hospital

+ At aparty

In a gym hall

3anumure B TAOMUILy BHIOpaHHBIE TU(PHI IO COOTBETCTBYIOLIMMHU OyKBaMH.

Bbl 1Ba pasa ycibIIUTE MSATh BBICKAa3bIBaHWK, 0003HadeHHBIX OykBamu A, B, C, D, E. Ycranosure
COOTBETCTBUC MCKAY BBICKa3bIBAHUAMHU W YTBCPKACHHUAMHU U3 CIICAYIOMICTO CHHUCKA: K KaXIOMY
BBICKA3bIBAHUIO TIOJJOCPUTE COOTBETCTBYIOIIEE YTBEpXKICHUE, 0003HaUeHHOE mudpamu. Mcmonp3yiite
Ka)KJ10€ YTBEPKIEHUE U3 CIIUCKA 1—6 TOJILKO oMK pa3. B 3ajaHru €CTh 0/1HO JIMIIIHEE YTBep:KIAeHHe.

The speaker talks about

L the dangers of careless driving.

2. traffic problems.
* his/her new job.
sports car races.
his/her recent journey.

6. different means of transport.

3anumure B TAOMUIy BRIOpaHHBIE IU(PHI IO COOTBETCTBYIOLIMMHU OyKBaMH.

Br1 yepimmTe pa3roBop AByX apy3eit. B 3amanusx 3—8 B mone oTBeTa 3anummnTe oqHy udpy, Kotopas

COOTBETCTBYCT HOMCPY IPABUIILHOI'O OTBETA. Bu YCJIBIIIINATE 3alIUCh JABaKIbI.

Why is Andrew going to Greece?
D To see the sights.
2) Totake a language course.

3) To visit a relative.

Why is Andrew’s flight delayed?
D) The weather is bad.
2) The plane is unsafe.

3) The reason is unknown.
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СЕРГЕЙ
Демоверсия контрольно-измерительных материалов по английскому языку 10 класс

для проведения промежуточной аттестации в 2019-2020 учебном году


What means of transport does Andrew prefer?
D Train.
2) Plane.

3) Coach.

What does Andrew’s mother do for a living?
1) She is a teacher.
2) She is a travel agent.

3) Sheisa guide.

What country is Andrew going to see next?
D Italy.
2) France.

3) Greece.

What foreign language does Andrew speak?
D talian.
2) French.

3) Spanish.



MpounTaiiTe NPUBEAEHHBIV HIDKe TeKCT. MpeobpasyiiTe CNoBa, HaneyaTaHHbIE 3araBHbIMI 6YKBaMu B
KOHL|E CTPOK TaK, YTOBbl OHM rPaMMaTUUECKU 1 NEKCUYECKN COOTBETCTBOBA/IN COZIEPXKAHIIO TEKCTA.
3anoHMTe NPONYCKU NOMYYeHHbIMM cnoBamMu. Kaxkablii MPonycK COOTBETCTBYET OTAE/IbHOMY
3aAaHuIo

People spend hours talking on their mobile phones. There is an opinion that it may be HARM

to their health, but it is difficult to know for sure. Some research shows that mobile phones may cause brain
problems. On the other hand, some doctors say mobiles are not DANGER at all. No matter what

doctors say, it’s just POSSIBLE to live without a mobile phone today. It has become a very

USE device and people can’t do without it. It makes our life COMFORT and saves
time. People can get in touch with each other quickly. Mobile phones make COMMUNICATE
easier.

People spend hours talking on their mobile phones. There is an opinion that it

HARM
may be to their health, but it is difficult to know for sure.
Some research shows that mobile phones may cause brain problems. On the
. DANGER

other hand, some doctors say mobiles are not at all.
INo matter what doctors say, it’s just to live without a

. POSSIBLE
mobile phone today.
It has become a very device and people can’t do without USE
it.
[t makes our life and saves time. COMFORT
People can get in touch with each other quickly. Mobile phones make

: COMMUNICATE
easier.



СЕРГЕЙ
Прочитайте приведённый ниже текст. Преобразуйте слова, напечатанные заглавными буквами в конце строк так, чтобы они грамматически и лексически соответствовали содержанию текста. Заполните пропуски полученными словами. Каждый пропуск соответствует отдельному заданию  


